)
1 A O

state

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

a RO = 0.021

fit_1_ii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



b RO = 0.053

fit_1_ii

state

)
1 A

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

c RO =0.123

fit_1_ii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



a RO = 0.02

fit_1_iii

state

)
1 A O

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

b RO = 0.054

fit_1_iii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



c RO =0.125

fit_1_iii

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

a RO = 0.057

fit_2_i

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100
Ti me( days)

25



a RO = 0.054

fit_2_ii

state

)
1 A

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

b RO =0.134

fit_2_ii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



¢ RO = 0.335

fit_2_ii

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

a RO = 0.056

fit 2 iii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



b RO =0.135

fit 2 iii

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

c RO =0.344

fit 2 iii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



fit_3.i_a RO =0.172

Nurmber of S/E/I/R pati ents
[ ~
8 3

N
1
o

75 100

0 25 50

L .
N =
T E

I =:

~
13
o

S

N
13
o

Nunber of S/E/I/R pati ents
g
I
1

25 50 75 100
Ti me( days)

o



w

NN

sue 13ed Y/ 1/3/S 4o Jequry

50 75 100

Ti ne( days)

25

a RO =018

fit_3.ii

w — x on

£
IR

sue 13ed Y/ I/3/S 40 Jequry

50 75 100

Ti me( days)

25



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_3_ii_b RO = 0. 461

1000 -

~

34

o
1

500~

250~

0 25 5‘0
Ti me( days)

fit_3_.ii_c RO = 1.085

1000 - ——

1
75 100

~

13

o
1

500~

250~

0 25 5‘0
Ti me( days)

Ll
75 100



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

~
(33
o

(34
=3
o

N
1
o

~
13
o

(3
(=3
o

N
13
o

fit_3_.iii_a RO =0.179

o
N
(&

fit_3_iii_b RO = 0.438

o

25

Ti ne( days)

Ti me( days)

75

75

E
1

— R

S



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_ 3 iii_c RO = 1.035

1000 -

~

34

o
1

500~

250~

'
50

1
100

0 25 75
Ti me( days)
fit_4.i_a RO = 0.544

1000 -
750 -
500 -
250~
0-

0 25 50 75 100

Ti me( days)



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_4.i_b RO = 1.352

1000 - —

\
\
750 - :
500 -
\
\
\
AN
\\
250 - \
—l \\ﬁ\\\
—
0- —
1 1 1 1 1
0 25 50 75 100
Ti me( days)
fit_4.i_c RO = 3.413
1000 - —_——
\ \‘\~\\\\
\ — —
\ |
\ ~_
_
750 - \\ \\
\
500 -
\
250 -
Sy
0- —
Ll Ll Ll Ll Ll
0 25 50 75 100

Ti me( days)



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_4.ii_a RO = 0.539

1000 -
750 -
500 -
250 -
0
1 1 1 1 1
0 25 50 75 100
Ti me( days)

fit_4.ii_b RO = 1.403

1000 - —

~

13

o
1

500~ \

250- \

Ll Ll
0 25 50 75 100
Ti me( days)



fit_4.ii_c RO = 3.449

1000 -

~

34

o
1

500~

Nurmber of S/E/I/R pati ents

250~

1000 -

~

13

o
1

500~

Nunber of S/E/I/R pati ents

250~

'
50

25 75
Ti me( days)
fit_4_iii_a RO = 0.578
2‘5 5‘0 7‘5 1(‘)0

Ti me( days)



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_4_iii_b RO = 1.398

1000~ -
~_
750 -
\
500 -
250 -
P
////
o -
1 1 1 1
0 25 50 75
Ti me( days)

fit_4.iii_c RO =3.213

1000 -

~

13

o
1

500~

250~

0 25 50 75
Ti me( days)



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

fit_5.i_a RO =1.127

1000 - ==

~

34

o
1

500~

250~

fit_5.i_b RO =2.89

1000 - — -

~

13

o
1

500~

250~

1
50 75

Ti me( days)
~_
N
|
S~

5‘0 75
Ti me( days)

'
100



fit_5.i_c RO = 6.539

1000 -
@ 750-
2
c
o
-
©
o
x
~
o 500-
)
s
~
o
£
2 50-
0-
1 1 1 1 1
0 25 50 75 100
Ti me( days)
fit_5_ii_a RO =1.102
1000 - —
\\\* —
o
\\
-
@ 750-
2
c
(5]
5
g N
x \
N
o 500-
»
Ha ]
~
o
£
2 250-
0_ _—— —
] ] ] ] ]
0 25 50 75 100

Ti me( days)



fit_5_ii_b RO = 2.867

1000 -

~

34

o
1

500~

Nurmber of S/E/I/R pati ents

250~

1 1
0 25 50 75 100
Ti me( days)

fit_5_.ii_c RO = 6.627

1000 -

~

13

o
1

500~

Nunber of S/E/I/R pati ents

N

13

o
1

Ll Ll
0 25 50 75 100
Ti me( days)



Nurmber of S/E/I/R pati ents

Nunber of S/E/I/R pati ents

1000 -

fit_5_iii_a RO = 1.093

1000 - —
————

750 -

500 -

250 -

] e
1 1 1 1 1
0 25 50 75 100
Ti me( days)

fit_5_iii_b RO = 2.941

~

13

o
1

500~

250~

Ll Ll
0 25 50 75 100
Ti me( days)



Nurmber of S/E/I/R pati ents

fit_5_iii_c RO = 6.757

Ti ne( days)



